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(1)3xz+a+z=>5z

(2)2xTXTX3IXYXYXyxyxy=6z"y’
(3) axax(a—3xb)=a®>—3a’

(4)3xrxzx(zx4—3xy)=122"— 9%y
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(1)3xaxbxzxaxbx2xb=6a’b’z

(2)5(x —y) —3(y+2z)+z(2+y)=2—8y+uzy

2
(3)6><a:><y><y+(x><y><5><x><3):5—y
xr

3b2

4) 21ab® + 28a%b = —

(4) 21a b=

(5) (5ay?) x (92%y?) + (152’y’) = 32’y

(6) (3ab®c) + (2a*bc®) x (6abc?) = 9b>
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Yy a 3y—azx
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b d bc+ad
® ete™ e

1 1 1 2+ zr+x
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r Yy z TYZ



200200 0000000000 Ser. A, No.1 OO

<4U000.000000 >

0000
1 )
O==7
5
2
3 3
®) =3
9
2 1
= T 5 1
® 5T -1
5ty T

d
— ad
5 C _
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(1) 123m =[0.123 | km

(2) 7500mm =[7.5|m

3) Imm =[10000000| A (=[107] A)
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(1) 10.5m + 2.4m = 12.9m
(2) 2000m — 140m = 1860m
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1) 0.6min = [36]s
(2) 36s =[5 |h (=[0.01]n)
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) 1h

4) 156s = min

5) 2.3 min
)

(
(
(
(6) 15min = m 10.25|h
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(1) lem® =| 1000 | mm?

) 1m® = [1000000]em® (=|10°|cm®)
(3) 1m® = mm?® (=|10°| mm?)
) 0.001km® = m® (=|10°| m®)
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%m/s =3km/h (00 3km)
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%km/min = @m/s
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(1) (@ — b)* = a® — 2ab + b*

(2) (a +b)(a+c)=a*+ab+bc+ca

(3) (a+b)(a—c)=a*+ab—bc—ca

(4) (a —b)(a—c)=a®>—ab+bc—ca

(5) (a+b)(—a+b) =b>—a®

(6) (a+b+c)* =a®+ b+ + 2ab + 2bc + 2ca
(7) (a+b—c)* =a®>+b* + & + 2ab — 2bc — 2ca

(8) (a—b—c)*=a*+b*+c* — 2ab + 2bc — 2ca
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(1) (@ +b)(a®* — ab+ b*) = a® — a®b + ab® + a®b — ab® + b* = a® + b*

(2) (a —b)* = a® — 3a®b + 3ab® — b*
(3) (a—b)(a+b)?* = (a®* —b*)(a +b) = a® + a®b — ab® — b°
(4) (a® = b*)(a® +b*) = a* — b

(5) (a—b)Q(a—l—b)2 — (a2_b2)<a2 —b2) — a4_2a2b2+b4
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¢ =(a+b) —Eab:a +b

0000 =a*+0*000000
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1) 4 (2) 16 (@g (4) 05
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OD = /(0C)2 + (CD)2 = 3+ 1 =2
0ooO OE=+v4+1=+/5
OF = 5 +1=1+/6
OG=+v6+1=+7
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(1) (6v3 —2v2) + (3v2 - 5V3) = V3 + V2

(2) (5v2 —2V/3) — (3V3 — v2) = 6v2 — 5V3
(3) 3(v5+2v3) +2(2v5 — 3v3) = 7V/5
(4) 5(vV5+v3) = 3(2v5 —V2) =3vV2 +5V3 -5
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(1) (~VII? =11

(4) v/(=0.12)2 = 0.12
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(1) V2 xV3=+6

(2) V5 x VT =135

(3) V4 x V11 = 2V11

(4) V3xV12=V36=6
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(1) V18 =32

(2) V40 = 2V10
(3) V75 =5V3
(4) V80 = 4v/5
(5) V147 = 7V3
02000
(1) V5 x /20 = 10
(2) V7 x V63 = 21
(3) V21 x v/84 = 42
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(1) (VB5+v2)2 =7+2V10

(2) (V2+V6)?=8+4V3
(3) (V3—-+v2)?=5-2V6
(4) (V6 —-v3)2=9—-6V2
(5) (V5+V2)(VE—v2) =3
(6) (2+V3)(2—V3) =1

02000
DRI
DRI
3) ==V
5 =2

0 3dod
(1) ﬁiﬂ=3ﬁ—3ﬂ
) 1 V5+V3
() \/g_ﬁ_ 9
; 3 3V6-3V2
N, E
(4) ‘/g_ﬂ:5—2f6

V3+v2
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(1) (12)s = (10)10
(2) (33)s = (2710
(3) (234)s = (156)1¢
(4) (707)s = (455)10

(5) (2001)s = (1025)10

02000
(1) (21)10 = (25)s
(2) (45)10 = (55)s
(3) (79)10 = (117)s

(4) (156)10 = (234)s

03000
1 4

1) (3.14)1p =3+ — + —
(1) ( )10 +10+102

(2) (15)s =1+

7 3
3) (b.73)s=5+=-+ =
() (513 =5+ 5+ 5
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a+b+c030000000a+b+ce=3n0n000000000

(abc)1g = 100a + 10b + ¢
= 3(33a+ 3b) + (a + b+ ¢)
— 3(33a+ 3b+n)

000 (abe)io=3x (33a+3b+n)030000000(000)

02000

o)
a+b+c0 70000000 a+b+e=7n0n000000000

(abc)g = 64a + 8b + ¢
=79 +b) + (a+b+c)
=79 +b+n)

000 (abe)s=7x (9a+b+n)070000000(000)
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(abed), = az® + bx® + cx +d

02000
(1) 23z — 42 + 1) + 3(z — 5+ 22%) = —22° + 9z — 13
(2) (3z —1)(4 — 52) = —152% + 172 — 4
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(1) B3z —2® +4) + (22° — 1+ 22) = 2° + 52+ 3

(2) (1 —2%) — (4 +2* - 32) = —22> + 37 — 3
(3) (z=3)2+2)=2"—2-6
(4) (4 — 3)(6 — 5z) = 24z — 18 — 202” + 157

= —2022 + 39z — 18

02000
(1) (z +a)®> = 2* + 2az + a®

2) (z — a)® = 2% — 2az + a’

(3) (z +a)(z — a) = 2% — a?

(4) (z —a)(z — b) = 2> — (a + b)z + ab
(5) (z — a)(2* + ax + a*) = 2* — @*

(6) (z — a)® = 2° + 3az® + 3a°z + @*
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r—1 r—1

=5 +Tr—2
r—3
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r+1) 22437
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2z

2x42

z+ 5

x—2) 22432+ 5
22z

9x+ 5

5x—10

15

20—1

x—1)22%—-3x—1
222 -2z

—x—1
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2 —2x+1
r—3) 1> —5r2+Tr—2
x® —3z2
222472

r—3 —222+6x
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(1)z=0000 (z+2)(z+3)=
2)z=1000 (z+2)(z+3)
(3)z=2000 (zr+2)(z+3) =20,
(4)z=3000 (x+2)(z+3)
B)z=4000 (z+2)(z+3)

=12,

= 30,
=42,

( )

(2) (z—a)" =2"—2azx+«

(3) (z+a)(r—a)=2—a®

4) (z+a)(z+B) =2>+ (a+ B)r +af
(5) (z —a)(x - p) =2 — (a+ B)z +af
(6) (z+a)(z—B) =2"+ (a— Pz — aff

0 3dod
1)ooo

2 +5r+6=26
22 + 52 +6 =12
2% + 52 + 6 = 20
2?4+ 52 +6 =30
22 + 5z + 6 = 42
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(1) 2° + 4z + 4 = (v +2)?

(2) 2> — 10z + 25 = (z — 5)°
(3) 2 —9=(z+3)(z —3)

(4) 2° + 55 +6 = (v + 2)(z + 3)
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(1) 2° + 20z + & = (z + )’

(2) 2° —2az 4+ o® = (z — @)®
(3) 2% — a® = (z + a)(z — )
(4) 2* = (a+ Bz +af = (z — a)(z — )
(5) @® + (@ = Bz — aff = (z + a)(z — B)
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(1) 2?4+ 62+9 = (z + 3)*

(2) 2% — 10z + 25 = (z — 5)?

(3) 2* +12z + 36 = (z + 6)°

(4) 22 — 9 = (z + 3)(z — 3)

(5) 2t =8 = (v+2¢2) (2 - 2/2)
(6) 22 — 1= (z + 1)(z — 1)

(7) 2> +32+2 = (z + 1)(z +2)
(8) 22 + 52 +6 = (z + 2)(z + 3)
(9) 2® + 7z +10 = (z + 2)(z + 5)

(10) 22+ 7z + 12 = (z+ 3)(z + 4)
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(1) 22+ 52— 6 = (z — 1)(x + 6)

(2) 22 +x—6=(z—2)(x+3)

(3) 22 +2z2 — 15 = (z — 3)(z + 5)

(4) 22 =3z —4=(z—4)(z+1)

(5) > —4x —5 = (z —5)(z + 1)

(6) 22 — 2z —8 = (z —4)(z +2)

(7) 2> =6z +5=(z—5)(z—1)

8) 22 —dz+3=(z—3)(z—1)

(9) 2 —92+8=(z—8)(zx—1)

(10) 2> — 6z +8 = (z — 4)(z — 2)
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(1)a? —4=0
T =+2
(2)z% — 8 =
T =422

3)(z—2)2—5=0

r=2++5

(4)3 - (z4+2)2=0

r=-2++3

(5)(x —3)*—-9=0
r=3+%3 r=00006
(6)4—(z+1)>*=0

r=—1+2 r=-30001
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(1) =*

(2) #*

(3) #*

(4) «?

(5) x?

+6x+8=0
(r+3)2=1
—10z4+16=0

(r—5)2=9

+8z—11=0

(x4 4)* =27

—4r+1=0

(x —2)2=3

—3r+1=0

r=—4000 —2

r=20008

x=—-4+3V3
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b Vb2 — 4ac
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2a 2a
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(1)a? —6x+8=0

r=2000x=4

(2)2? =8z +7=0

r=1looo0x=7

(3)2% — Tz +10 =0

r=2000x=5

(4)x*+2—-12=0

r=-—-4000xz=3

(5)z* —z—2=0

r=—1000xz=2

(6)z> +5z+4=0

r=—-4000x=-—1
(Mz?—5=0
x:i\/g

8)z2+z—1=0

—1++5
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1 5 1—4/5 1 5 _1—14/5
_x2_< V5 2f>“ VB, 125

=22 —z—1

02000
(1) 22 =2z -3 =(z—-3)(z+1)

(2) 22 +3x—4=(z—1)(x+4)

(3) 22 —3 = (z — V3)(z + V3)

1+\/ﬁ> (x—l_\/ﬁ>

(4) xQ—x—4:<x— 5 5

(5) 22% —6x — 20 = 2(z — 5)(z + 2)
(6) 322 4 3¢ — 18 = 3(z — 2)(z + 3)
(7) 922 + 62 + 1 = (3z + 1)?

(8) 322 —bx —2 = (3z+ 1)(z — 2)
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(1) 22 =322 —z+3=(2*-1)(z—3) = (z—3)(z — 1)(z + 1)

(2) 2 =6z +5=(z—-1)(@"+z2-5) =(z—1) <x+1+2\/ﬁ> <$+1_2\/ﬁ>
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(1) 2*+322 —2—-3=0

(@ +3)(z+1)(z—1)=0

r=-3000z=-1looox=1

(2) 2 +222 =52 —6=0
(z+3)(z+1)(z—2)=0

r=-3000z=-1l000x=2

(3) 2® — 3z +2=0
(z+2)(z—1)2=0

r=-2000xz=1

(4) 2* +32* +32+1=0
(z+1)3=0

r=—1

— 32 —



200200 0000000000 Ser. A, No.1 OO

<33000.00 >

oo
(1) a,=3n—-5

a; = —2, (I2:1, (I3:4, (I4:7

(3) an=(-1)"
(Il——l, (I2:1, as —1, a4:1
(4) a, =—x3"
1
(Il—g, (Ig—l, (I3:3, as =9

(I1:4, (I2:2, (I3:1, ay = —



200200 0000000000 Ser.A, Nol 00O

<340000O.0000 >

01000
an=a+ (n—1)d

02000
ap=1+4+2n—-1)=2n-1

030y
a,=147n—1)=Tn—6
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(1) 20 =1
(2) 171 =1
(3) 22 =3
W) 37 =
(5) 6x 47 =
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(1) V169 =13

@) /8 =2
(3) /125 =5
(4) /256 - 4

./ 81 3
®) 25 =3

(6) /3125 =5



200200 0000000000 Ser. A, No.1 OO

<39Uugo.gog 2>

gogg
(1) 3% 5T

g V2 _ 1
VB s
@) VB




200200 0000000000 Ser. A, No.1 OO

<40000.000 3 >

1d0d
(1) /51332

@) YTE =247
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